


مهم=  أحمر  

مثل ماهو موجود بالسلايدات= أسود   

مذكور عند الأولاد فقط=  أزرق  

توضيح=  برتقالي  

بالمقررشرح اضافي مو مطلوب =  بنفسجي  





 

  

 

Nuclease is an enzyme capable of 
cleaving the phosphodiester bonds 
between the nucleotide subunit of 
nucleic acids. Also named 
polynucleotidase or 
nucleodepolymerase 

1- Broken down by 
obligonucleotides and further 
more to mononucleotides  
2- nucleotides :  “ sugar  + base + 
phosphate “ 
3- nucleosides : “ sugar + base “ 
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Nucleotides 

Nucleosides 



• Uric acid is excreted in the urine 
• Some animals convert uric acid to other 
 “ because animals have uric oxidase  
enzyme that convert the uric acid to other 
compound , human have not the enzyme “ 
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You need to know 
only the products 
from previous slide  



• To save water 

الحشرات والزواحف والطيور تخرج حمض اليوريك 

لحفظ اكبر قدر من الماء، بينما الانسان              كـ
 يخرج حمض اليوريك مباشرة

Crystals 



• Excessive production of uric acid 
in the joints 

“disease” 

“high uric acid in blood” 

“ hyperuricemia is not a disease . It os a condition of elevated uric acid in the 
blood . It can be referred as a disease once it show symptoms or cause other 
disease such as gout “ 
 





(normal: 2.5-5 mg/dL)  

The Gout is depend on how you body deal with uric acid my 
production is normal but excretion is slow or production is high 
with normal excretion, may both high production with slow 
excretion” more dangers . 
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Crystals accumulate in the synovial fluid first then progress to around 
the joints 
These are called: tophi –singular tophus- 
What happens is that leukocytes gather by chemotaxis because of the 
inflammation and try to phagocytose the crystals but burst and send 
out cytokines and enzymes which have further inflammatory effects 



Alcohol decreases excretion of uric acid 
Meat increases production of uric acid 





enzymes of 
purine degradation 

Primary always means that it is idiopathic 
(unknown cause) 
Secondary has a known cause.









If Xanthine oxidase is inhibited then hypoxanthine will not be oxidized 
to xanthine and xanthine (from xanthosine) will not be oxidized to uric 
acid. This leads to accumulation of these 2 bases in the blood. The 
advantage of this drug use is that these 2 bases are highly soluble and 
can be readily excreted in the urine 



Questions for review  
Q1) Enzyme convert the uric acid to other compounds like 
Allantoin ,Allantoic acid in the animals but human not have this 
enzyme is  
A. uric oxidase  enzyme 
B. Polynucleotidase 
Q2) Alcohol ……………. excretion of uric acid 
A.  increases  
B. decreases 
Q3) Meat …………….. production of uric acid 
A. increases  
B. Decreases 
Q4) To reduce uric acid production We use  
A. uricosuric agents 
B. Allopurinol 

Q5) to aviod gout: 
A. Gain weight  
B. Avoid purine-rich diets 

 

ANSWER QUESTION 

A 1 

B 2 

A 3 

B 4 

B 5 
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